Year 5 Core Arithmetic Test 3 teStbase

32+4+4=

1 mark
888 - 10 =

1 mark
21 x0=

1 mark
245 + 7 =

1 mark
2x8=

1 mark
245 -1 =

1 mark

871

+ 109

1 mark
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49 +7 =

1 mark
2 5
—_t—=
9 9

1 mark
873-97=

1 mark
59,145 + 2,878 =

1 mark
3x5x3=

1 mark
0.65 = 7%

1 mark

143

X 7

1 mark
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1.9+3.6=

1 mark

45,902

— 15,005

1 mark
9.3+10=

1 mark
7.2 x100 =

1 mark
4 of 14 =
7

1 mark
30 x 60 =

1 mark
5217 +3 =

1 mark
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1 of 508 =
4
1 mark
43.8
X 6
1 mark
P+ 3=
1 mark
3=x3=
1 mark
2
0.3=—
10
1 mark
306
X 24
2 marks
52.4 - 6.67 =
1 mark
3_1_
4 8
1 mark
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